Edexcel A level Mathematics Differentiation (’

Section 2: The chain rule

Exercise level 1

1. Use the chain rule to differentiate the following functions.

(i) y=(5x-2) (i) y=(2+5x)"

(i) y=(1-3x) (iv) y=(1-2x)"
2. Using the chain rule, differentiate with respect to x:

i (x*+1)* (i) (3x*+5)7

(i) (5-x)* (iv) (7-4x)

3. Differentiate the following functions.

(i) y=(5x—2) (i) y=(2-5x)°
(i) y=(2+3x)" (iv) y=(1-2x)
4. Using the chain rule, differentiate with respect to x:
() (3x2+1): (i) (3-2%%)°
(i) (5+2x%) " (iv) (5-2x%)°
5. Differentiate with respect to x:
(i) 6x-5 (i) J(x*-2)
6. Differentiate with respect to x:
: 1 . 5
[ i —_—
® 3x-2 i x> —4x-3

7. Differentiate with respect to x:
1 3

0 VX3 +3x ) It 1

8. Find the gradient of the curvey = > !

1 at the point (1, 1).

9. Find the gradient of the curve y = v/3x? —3x—2 at the point (2, 2).

10. Find the gradient of the curvey = at the point (1, 1).
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